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Which pronoun placement is correct in a negative command?

a. After the verb

b. Before the verb v

c. Attached to the verb

d. Between the verb and the subject

What is the correct negative command form of the verb "hablar" (to speak) for ti?

a. No hablas

b. No hables v
c. No habla

d. No hablais

What is the negative ti command form of "coner" (to eat)?

a. No comes

b. No coma

c. Nocomas v
d. No comais

Describe the role of pronouns in negative commands and provide an example.

In negative commands, pronouns indicate the subject being addressed, as in 'Don't you do that!

List three verbs with irregular negative tG command forms and their correct command forms.

1. Ir - no vayas 2. Ser - no seas 3. Saber - no sepas
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How do spelling changes affect the formation of negative ti commands for verbs ending in -car, -
gar, and -zar? Provide examples.

Negative tt commands for -car, -gar, and -zar verbs require spelling changes: 'sacar' -> 'no saques',
'jJugar' -> 'no juegues', 'almorzar' -> 'no almuerces'.

Explain the process of forming a negative t0 command for regular -ar verbs.

For example, to form the negative tit command for 'hablar', you take 'hablo’', drop the -o to get 'habl’,
and add -es to form 'no hables'.

Identify the correct negative ti commands for the following verbs:

a. No tengas v
b. No hagas v
c. No vengas v
d. No salgas v

Which of the following verbs has an irregular negative td command form?

a. Hablar
b. Tener v
c. Vivir

d. Comer

What is the negative tG command form of "ir" (to go)?

a. No vas

b. No vayas v
c. No vaya

d. No vayais

Why is it important to use the yo form of the present tense when forming negative tGt commands?
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It is important to use the yo form of the present tense when forming negative tt commands because
it allows you to derive the correct conjugation for the command, ensuring proper grammar and
clarity.

For the verb "jugar" (to play), what is the correct negative tG command?
a. No juegas

b. No juegues v

c. Nojugas

d. No jugues

Which of the following verbs require a spelling change in the negative tt command form?

a. Sacar v

b. Llegar v/
c. Empezar v
d. Beber

In negative commands, which pronouns are placed before the verb?

a. Direct object pronouns v
b. Indirect object pronouns v
c. Reflexives pronouns v’

d. Subject pronouns

Which of the following verbs are stem-changing in the negative td command form?

a. Pensar v
b. Dormir v’
c. Correr

d. Volver v

Which of the following is a correct negative command for "dar" (to give)?

a. No das
b. No des v
c. No da
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d. No dé

Provide a sentence using a negative tt command with a reflexiv pronoun and explain its structure.

No te preocupes.

Select the verbs that have irregular negative ti command forms:

a. Estar v
b. Saber v
c. Comer
dirv

Which of the following are steps to form a negative tG command?

a. Start with the infinitives form

b. Use the yo form of the present tense v/

c. Drop the -0 ending v

d. Add -es for -ar verbs and -as for -er/-ir verbs v/

What is the correct negative ti command form of "ser" (to be)?

a. No seas v
b. No eres

c. Noes

d. No sois

Create hundreds of practice and test experiences based on the latest learning science.

Visit Studyblaze.io

Negative Commands in Spanish Quiz Answer Key PDF


https://studyblaze.io/

